
(55 ,
5) = 120 ; 20 ,

10)topToronto (3
, y
B

, 2) = (20 ; 10 , 2)



Not now : P = /1
, Ps . Pw) .

BC :
X + PsYs + PrYo =* + PS5s + PrJw

-

kn
, Ba) = 15,6)DEMONDS : Mrs= Mrsy= (g . Pg) = /10 ,3)-

( : jp)= ,yF(p) = 5
Pr

B

BETH : 2s(p)= (p)= -

2

Market Crebring
-

= = = t
y

- = 30 =

Hence : y(p * ) = 10 , y* /P
* ) = 20 , y * (p% = 20

, y & (pt) = 10

x (pt) = 2 + z(20 - 10) + -(10 -2) = 22

X3(px) = 2 + 1(10 -2) +=(2 - (0) =
18

CE Aucocaow : [(22 ,
10

,
201

,

/18
,
20

, 1017
-



Norton
. P =

s

= Pr = 1
, I :, wr rest pote

Consumers' Budget Constrants :

x + b=

ys = 5j + (1 + r)b I IMMA
yo = 5y + 11 + r)b Mrs gr==

i
CLEDrey

,

In The CE 750 ,30 Fic(A , B)
·

i1 Wit ? If Either y = 0 or Yo = 0 Consumer i is worse off in
-

THE PTIt T THE INIMAL ALLOCATION

Daso : b
"

(wt) = - b
*
/ra)

.

1
& AMETO OPTIMACITY WOULD REQUIRE :

MiLSLyn = MRS
Ys'] m



Using (1
*

( = -(i) 14 = C ,
we May WHITE This Conditon

DS

-
-
I He soctions to this Equation Dre <= 1055

.

However
,

If C = lots = y = 10-lots <0
, which is a Contradiction

-

If C = -lots = y = 10-1025 CO
, which is a Contradiction

Hence MEE CE ALLOCATION is NOT Poreto optimal
.

-



~ = (2) , r
= (2) := Ps = ~ = 1

. C:z = z = 77 = 0

9, EG

In THIS SETTING A CONSUMER'S Budget Constraints Bre : 10

IT I is METM) X # 907 + 962 = 7

-

1 NEXT YEAR Sh Ys = j + zy + 27

& NEXT Year N) Sw = Yw + 27p + 26

5vins For Zp ,
Es IN NEXT YEAR CONSTRAINT We GET

zx = z(5s - 3s) = z(5n - yn)

zs (55 - 31 + 5/5n -3)



SUBSTITUTING THESE VALUES In ThS YEAR'S Budget CONSTRANT

WE GET :

X + 15 - 5763s + 1575 - 59)3m= X + 15 - 5765s + 1575 - 59)5n
G NTDWINS THIS Budget Constraint WITHThat of Part (a) of

THE EXERCISE
,

WE SEE MAT D CONSUMER'S PROBLEM IS THE

SAME
;

AND THEREFORE IN EQUILISMIUM THE MELDTE MARKET NALUES

of GoodS MUST BE THE SAME & THAT IS :

=q = +



As ForThe IMPLICIT Interest rate
,
NOTENat Giving vo I va ,T

of CONSUMPTION TODAY ONE CAN BUY THE Port FoLI a

E = )
,

wine
1 = [p +att z=I S & (

W HCH YIELBS S 27
S
+ zi

N I zs +2z) = (i) =(

UN , is ofConsumption In Each stare
.
Hence

& = 1 +r(=)r = 14

1 I

Is TheImplicat Interest Mate


